T/\Q.U\ m‘\QJ HY g\m}ﬂtﬁﬂt 1@ f)u\if‘llf\ pl ﬁel OW{I

Mo um( IA n\

Tm

et Hink O ko, ¢

@
_DMn - ( WiNA \‘f\& H\Qu g g {f (J.xL f,(( 1’ (ufint t .
]‘ % )‘ fTJ‘ | !'{ iﬂ 0! L ., C u ;/f éc"‘{:‘k, LLJM '
6 ﬁ b ) | i (m‘xﬁ:\t +/Q
u : P
| : A cwuthiny - ‘7
\ I
; f{.fi (! J,.ﬁ

T
g
=




Tt it would be used in making electric veticles in fut/
10 generation of electric powar s becoming a problem
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nderline adjectives in the following sentences and mention their category.

I. She ate some rice but no bread. — -‘h -
E 2. They are afraid of hidden enemies.

3. The whole town was asleep L"‘i‘?ﬂ'g

4. They taught us man many things about this issue. ot

Which way leads to the city courts ?
I did it with my own hands.
7. Every word of his was true.
(B) Select the comrect wotd from the alternatives given in brackets in the fullomng sentences.
1. ﬂ'hat/ﬂ\ese) mangoes are ripe.
Rama is (more/most) intclligcm than Kavita.
Lead is heavier than (any/any Other) metal.
Ramesh came (soon/sooner) than his brother.
Do this work without (further/farther) delay.

His school is (further/farther) than that of his brother.
‘Radium is the (rarer/rarest) of metals.
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2. Ilike these kind of magazines.
4. He is the wisest of the two boys.
6. What is the last news ?
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(D) Supply the proper form of the given adjectives.

I. poor :  Heis _J e than his bTOthCr

2. clever - Of the two hess [hAON L CAM

3. rich Laxmi Kant is one of the Al ___men in our city.

4. wise Shivaji was L_L\,Q;Q N than all his contemporaries.

5. proud : - HeEs the.[ il { : { man in our locality. )

6. bad - Ier condmon is getting from bad to_i;‘.“_.___i-}"r—‘/

(E) Fill in the blanks with appropriate adjectives.

The (a) frog made the()) — nightingale to sing loudly ata
(¢) pitch. The nightingale was ' enough to follow him. Soon her
(4) voice was lost. After (e) time she died. The frog was very
) and he began to sing in his (g) voice. All the inhabitants of

(h) island had to listen to whatever he sang.
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